NO. 1

HARDIZK
HA
ALE=V
B 5
WA BE B A H
HR A 2 B T H
AT ERRE
HL ) B A

Sz
H &
KK-XZU302M
HEE 100 = 4105
Rk 16 42 H
SFTH2H 19 H
200, 950km

3, 160 ke




NO. 2

HARDTZAR BT
B4 =
ALE2Y KK-FE53CB 4
B[] 2 5 BEE 100 X 4226
) BE B A A YRk 15 4F 3 A
LR AT 2 T H G643 H 19 A
AT RERE 70, 029km

EENTOEEg =y 3, 060 kg




NO. 3

HARDTZAR Bz
B4 =
ALE2Y KK-FE53CB &
B[] 2 5 HEEF 100 X 4227
) B B A A YRk 15 4F 3 A
LR AT 2 T H S 643 H 26 A
AT RERE 70, 238km

EENTOEEg =y 3, 060 kg




NO. 4

HARDIZK
H4
LGV
B 5

) % S AF A

H A 2 B T H

EATERHE

HL [ E A

Xy 74—
=y
TC-SH4F23

HEEF 400 H 8408
VR 17 4 2 H
SF642 H 23 H
160, 399km

1,920 kg




